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erl | | mark for each Question 1x40 | 40 marks

l

er1ll | Question No1

i. 1mark

ii. 1 mark

iii a.% mark b.% mark
iv. 1 mark

v. 2 marks

vi.a. % mark b.% mark
Vii 1 mark

viii 1 mark

ix Imarks

X. 2

Total 12 marks
Part A

Question No 2

i) —Correct clefand Time signature
- Correct notes / rhythm pattern
- Correct key signature

ii) —Correct key signature
- suitable melody using correct notes/
rhythm

lii) — Correct Transposition
- Correct accidentals

NiR(R(r|RpRIN|R|[R|R|-

4 marks

4 marks

N w RrR|N| =

4 marks

Total 12 marks

Question No 3
i) Suitable time signature 1

Suitable rhythmic pattern
Writing words correctly below rhythm 2 6 marks
(Delete 1/2 mark for each mistake) '
ii)Marking correct interval ¥ mark each x 6 3
Correct Time signature & bar lines 2 mark
Key and name of Song 1 mark 6 marks
Total 12 marks
Question No.4
1a) correct Chord indications & cadencesof
LI, |23
Ib)Carrect Perfect Cadence 2x2 4
(if) - Suitable rhythmic pattern to match
the 1% phrase
- Note leading to Tonic at the end
should be 2" or 7

- Tempo/ phrasing / dynamics 1

Total 12 marks
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Question No 5

(i) Use of correct notes of chord 1 mark each x 6 6
(ii) Conversion of Western Notation to

Oriental notation
Total 6 12 marks |
Question No 6

Treble and bass 1x 2 =2

(i) -Correct notes with accidentals /key Alto and Tenor 2x 2= 4 6

signature and clefs

ii)a. Notes of the Blues scale 2 marks

b. feature of Jazz music 1 mark

¢. Two woodwind instruments and &

description 3 marks

Total 12 marks

Question No 7

(ia) Explain one given type of music 2 marks 2

{ib) Name the composer 1 marks eachx 4 4

(ilia) Name of period 1 mark 1

(iiib) Common features 2mark each 2

(iv) Own writting 3 marks 3

Total 12 marks
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Common Techniques of Marking Answer Scripts.

It is compulsory to adhere to the following standard method in marking answer scripts and
entering marks into the mark sheets.

1. Use a red color ball point pen for marking. (Only Chief/Additional Chief Examiner may use a
mauve color pen.)

2. Note down Examiner's Code Number and initials on the front page of each answer script.

3. Write off any numerals written wrong with a clear single line and authenticate the alterations
with Examiner's initials.

4. Write down marks of each subsection irA and write the final marks of each guestion as a
rational nu rina with the question number. Use the column assigned for Examiners to
write down marks.

Example: Question No. 03

. i A

T T T \[

Ca )+ @ 3+ i) 2 is

MCQ answer scripts: (Template)

1. Mark the correct options on the template according to the Marking Scheme. Cut off the marked
windows with a blade. Cut off the cages for Index Number and the number of correct options so
as to be able to keep the template correctly on the answer script. Cut off a blank space to the
right of each options column to mark the answers. Submit the prepared template to the Chief
Examiner for approval.

2. Then, check the answer scripts carefully. If there are more than one or no answers marked to a
certain question write off the options with a line. Sometimes candidates may have erased an
option marked previously and selected another option. In such occasions, if the erasure is not
clear write off those options too.

3. Place the template on the answer script correctly. Mark the right answers with a 'v' and the
wrong answers with a 'X' against the options column. Write down the number of correct answers
inside the cage given under each column. Then, add those numbers and write the number of
correct answers in the relevant cage.
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Structured essay type and assay type answer scripts:

1. Cross off any pages left blank by candidates. Underline wrong or unsuitable answers. Show
areas where marks can be offered with check marks.

2. Use the right margin of the overland paper to write down the marks.

3. Write down the marks given for each question against the question number in the relevant cage
on the front page in two digits. Selection of questions should be in accordance with the
instructions given in the question paper. Mark all answers and transfer the marks to the front
page, and write off answers with lower marks if extra questions have been answered against
instructions.

4. Add the total carefully and write in the relevant cage on the front page. Turn pages of answer
script and add all the marks given for all answers again. Check whether that total tallies with the
total marks written on the front page.

Preparation Of Mark Sheets.

Except for the subjects with a single question paper, final marks of two papers will not be
calculated within the evaluation board. Therefore add separate mark sheets for each of the
question paper. Enter paper | marks in "Total Marks' column of the mark sheet and write them
in words as well. Enter paper Il Marks in the " Total Marks" Column and include the relevant
details. For the subject 43 Art, Paper |, Il and Ill Marks should be entered numerically in the
separate mark sheets and should also be written in words.

For subjects 21 Sinhala language and literature and 22 Tamil Language and literature,
paper | marks once entered numerically should be written in words. Use separate marks sheets
for the papers Il and Ill and enter the total marks in the "Total marks column'. Write the
relevant detailed marks against each of the total mark.

Final marks for paper |, paper Il or paper lll should always be rounded up to the nearest
whole number and they should never be kept as decimal or half values.

EE 2
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General Certificate of Education (Ord. Level) Examination, December 2019

woBs (ge08®) I, II
FEIESD_(CoamevghBsur) I II
Music (Western ) II

10.12.2019 7/ 0830 - 1140

L

m(.?m& ‘ _ 1 2053 BeB® m»iEs - 85nin 10 8 )
e el HFHwITelD Guevgs endly GpJ - 10 BllLmiser
¥l‘hree hours Additional Reading Time - 10 minutes

(T conc 5308 mes SED SDK BHE) OGS eDic) SO0 BENCT BEEEE SERSHE D SED
£:80020 90 MSP0s oo,
elsmuugsHrsens andiis, slamssmens GsfaGsuaspel alo awaweunrs wsgifieny aRGD
alamssamen GEsOLESHS GETdasied Cwads ardly CEISMSU LUSTLESSIS.
Use additional reading time to go through the question paper, select the questions and decide
on the questions that you give priority in answering.

oBms (gesdtn) / sndsib (BuwamsogBsul) / Music (Western) 1

eeBe @ud/wpsadun/ Note
(i) Boe @ gfoded BERpT, sowsioy.
stebeT  eilsbBEndE@GD sl 5mHH.
Answer all questions.
(i) 1-40 o= gdmOe (1).(2).(3).(4) BEnGiO8= BT ewd Dl ogeu® ewi EEDC enid oxis.
1 Gsm_ssbd 40 sumIwsisn gsullaurm allsmaisnd (1),(2),(3),(4) aear steamemiLOulL sl seilst Ffluwimer
Sisvs0@ UsL QUIGGSWTE alolawld Lisfatsuis.
From each of the questions 1 to 40, pick one of the alternatives (1), (2). (3), (4) which you consider
is correct or most appropriate.
(iii) AT esewx BE8x0 tned ¢ 93 gdns sew T 9B BE groecs 88 emic) ool BEnel #omud sisegs®
206 ne (X) e oo,
2 &G UPEISULL Betst el BsrsMed gpsuGeurm ealemeadEsd 2 flu sl Bsaflsd 2 g
adepLuish Revbssmes 96 L GHHgnsBsn Usismgenw (X) RBS.
Mark a cross (X) on the number corresponding to vour choice in the answer sheet provided.
(iv) o& B8no oged Bgee & ;b cennm credt ¢ wicBcecs Hods, gin ¢ BEuisin.
allsnLsanaile 1omusSEHEB SIUUL s WwieBLl DT a|BIbSOEMMLD Sasnots saThs dauBennil
L 63 LD .
Further instructions are given on the back of the answer sheet. Follow them carefully.

1. 21 € &8 b o e gey 088 Edesivcn vsies’ e®eilzs @ ¢?
Ueiteucneusieubmien SyoulBaiten L @i GUIihSSTe it AECenFa] 61?7
Which of the following is the correct time signature for the given bar?

T dd daa ity J Ll

(1§ @ 3 32 @ {%

2. ocum Pedm wedm @l Om CE0 BdesiDded qmb wEgbea D80 gdas odtd0 & g1 SDriss ¥l ¢?
Deitauple @ens umy Sene angib  FECaFa(hdb@ FoU  YTabrb@ausned Bhaneuwner Gmerdl
ST BeTereummieT 157
Which of the following rests would suit to complete the given bar according to the time signature?

‘f -
- i 4 3
7 < 2) -7 Y 3) Y ¥y 4) 7
\ .
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3. 2 g8 asted SEaly epdd 30 om® omnule ¢?
Byt Beisn slenn b @eng Bsveungl o sen GCual et adhHenen?
In the given illustration how many crotchet beats are silent?

(1 5 (2) 5% 3) 6 (4) 6%

4. Z g8 89823 8¢ C 920 00is 5 o 0w g $hdw nex ¢?
FIOUL Gerersubmisit Wiged C BN@& 5 GIneaise SpTH 2 sfen srosugd 6a1g?
Which of the following notes is five tones below Middle C?

&3 bhoy—

o FaFe—f o E R =

5. % (B 3900 0808l 7 gue =Hbon sun wgws’ 6853 R ¢?
i sieupeusmeudpien SIUUL Baien eeurHoihd GogaT 7 Gsoten edeuTd 613512
Which note of the following would form a Major 7" above the given note?

b |

o
) F— (2)% 3 F=— (4)??%

DY)

6. adedn Hect 8 Hefded vang veedS scdl c8med H0ds Dles’ cun S0dxss R8I ¢?
Ueieumausaummiet SIe0CIm Henst St awByell BHHS HCp (PHevmb Glevgal evevaial erbsuTeIZ 6117
Which of the following is the letter name of the note on the first Leger line below the stave of
the Alto clef?

(1) A 2) C (3) D 4 B

7. € a8 secd enlsl sum £S50s El’ 8@ escen eolu gies! @ ¢?
SICUL Beiten HoensiusdensTt Uemaumnd evagn E gieuppol uwauGHe Caemigug asi?
Which of the following clefs should be used to make the given notc Eb?

o

 — |
N —— P e— m@ w 1B—=

8. WHleod £mF ne g1 ¢disl v emre®en &7
HGra1 gamfanistt sidsamen GpTeme 2 _sfiensn?
How many tones are there within any octave?
(1 3 2 4 3) 5 4) 6

9. Co® B Blesidde o8n dedd gocs Dyed eEnisl nos ¢
Ueialheuaaubpelt @& £ FAeGamdumys GomediL enBssvsefar Gamy wg?
Which of the following pairs of scales would have the same Key signature?

(1) Bb major/E> minor (2) F minor/Ab major
(3) C# minor/D major (4) E major/C minor
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et oy mmt o — oy — =

10. T 5 D823 8858 Cebum S oudicna 8s53es’ @ ¢? W
UatTeumeusmauioyein smwery Lywmnlen (papeomd EenGsujsasit s13)?
Which of the following is the 1% inversion of a minor triad?

H = o = o e » T
2 9=

[3)
11. € a@ Dyl BciOE rwwd s@i» Duiess 2= ¢
Usieugpeusmaubmen L1sumeusd Hredans @bHHl oigl?
Which of the following is similar to Bilawal Raga?

O

1 R e ]

(1) ) o = i
- o o &_.“. Q 1

(3) 3’ 0 r= Y ﬁ (4) 'g?‘_"'_e_ e Hﬂ = =

12. € B d9 gneds’ cum owile oo wPasil dedco 99 ¢7
sfiaumeuaseupmie LU Beten Garl o L6l Gaiijyeniu eroBmset sigh?
Which of the following scales is associated with the given chord?

(1) A major (2) D minor (3) F major (4) A minor

13. s S0 gobsd € g oo Budnd ooy casiest n@Sst ¢?
LsiTeu(meuamaummien SIUULBemen Lywm Senet ellsufliug 6157
Which of the following would describe the given triad?

<

(1) Tb (2) Ve (3) Vb (4) Ve

14. E a8 21 aodsl nom codcs suy B8e®x3, Digxa B0y Ca» £480ws! 0ed v eem Eel ¢?
siteugpsuasuBmst  absl  GQuialsner SigssbG s, @aassiniBid adambd OaM Ibal 9alssie

LIBTERTY HBEHLD?
Which of the following pedals, when depressed would sustain the notes played?
(1) Unacord pedal (2) damper pedal (3) soft pedal (4) sostenuto pedal

15. € g8 euidsioe Bdnd =iy casies 858 @8z ¢?
Usaumsuamaummien STUUL_Beten CaLeierd Benen efleufliuzs a15l?
Which of the following describes the given cadence?

o)

- Ty

y al L] by

D =

g e o

' 1T (%] [ &)

-I'. [ ]

O

(1) Imperfect cadence in C minor (2) Plagal cadence in Bb major
(3) Perfect cadence in Eb major (4) Amen cadence in G minor

16. ‘8gec=Hs maBs Buwr gides BnO®» eni® Sersd ¢?
‘aflujiogertd’ e sbsb aps apealsd (form &ev) srup UL Beiteng?
In which given form is ‘Humoresque' written?

(1) Ternary Form (2) Variation Form
(3) Rondo Form (4) Binary Form
L. . S
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AFBf AT AL WA S A AT Ay Am

f 1

17. & B qCmiems »esidn ecrles’ vom RS 9853 ¢?
senmauereuBmshn SILIULC Beiten @IemGlosih Renen alloufliugl 61%1? %
Which of the following describes the given ornament? [
(1) Mordent (2) Acciaccatura
(3) Inverted turn (4) Arpeggio

18. 2 &8 S8 no» B sIue DS 80 efi®2230 emdds B88 ndtes’ ?
HaaumeusTsuppish Grmels GeTLssh GLMbasE Carl Smen LWSUGSH o (beutel CaLsiad 6157
Which of the following cadence is made up of the chords tonic to dominant?
(1) Interrupted cadence (2) Perfect cadence
(3) Plagal cadence (4) Imperfect cadence

19. #€95emd guls fox [ @85 Sowew Der! 8D ¢?
abaurHaIbE Gwevns eph Lsitet rGISﬁTLI.f_}‘)STITISh GBI ruBeug ereie?
What is indicated by a dot above a note Pe

(1) Play the note with an accent (2) Play the note smoothly
(3) Play the note detached (4) Play the note adding half its value to its length

20. 2 &8 €90 gobs3 Om BDes e O DG WIHOEO ¢?
e mausmaummien sl i Smens Corawi. GenFoHamel 517
Which of the following is a single reed instrument?
(1) Trumpet (2) Clarinet (3) Oboe (4) Bassoon

21. Oxm>e 2O H€O0EC O BlensC puE BN VO b Digs ML Exfest @t ¢?
BasaaiLBD etarsms ol mbs CuItus. Hwre @6l ewiUDd Bmsssmal 65?7
Which instrument sounds a perfect Sth lower than the played note?

(1) Piccolo (2) Cor Anglais (3) Trumpet in Bb (4) Clarinet in A

22, wom S8 enlsl efhst 0B mados O5les’ @ ¢?
LiasumeuaeuimeT LErmes @enabmhal 61517
Which of the following is the drone instrument?
(1) Oboe {2) Mandoline (3) Tampura (4) Sitar

23. T B wodm aenbao BIJ COBDO Semz’ Dutzra v J0 aessies’ nOB Do0GBens IEieds §1midad ¢?

FIOUL Geten  @smatl  Guwity BT Cobul B BenassiuGinGung  NeeumeueteuBmisit - 6160
GBIl Gersnoury CaLs5musTS EHEHGHID? b
Which of these would be heard when the given musical extract is played on a Trumpet in B*?

e e f
rf 1 : 1
et
(2) 1 i
4 ; |
At B L 1 | 1
(4‘} = I'L_J - Ir} 1 - i)
24, T g5 e Dgmds O g1de gmevsies’ R8s ¢? ;
SIOUL Bsfen  abaurHns Gansdon alsn @eubiisd asd aleaufldsiin Geleng?

Which illustrates thc way the given note is played?

m JJJJ @ i P Joe @ Jood |
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NS B diNF RS EAN S ‘.u—.., am
fr— "~

25. som cteds nom ymias BCE e ¢?
Westeu(heusnmsum et Ffluimen bl arg?
Which of the following is the correct statement?
(1) The Trombone plays the soprano part in the Brass section
(2) The Piccolo sounds an 8¥ higher than written.
(3) The Conductor tunes the orchestra.
(4) The Saxophone is an important instrument of the orchestra.

26. E g8 Dmncd ogesn BRGE Gden ayten’ 83 ndm Ddenum §?
SHIUULBeiten sundhSlwisisel Cuigdserar sflurer ghab Soubqel aHe 2 _6Tars?
Which of the following would be the correct rhythm to match the given sentence?
*Yankee doodle came to town, riding on a pony.”

w 3144414 2dd J\d 1 JAdFIJIdd 1d
@ 84 JId1d Pl PITI ) Py

@ 34949 L@ 00 .

@ 34 JT@HS 4N \JI. Tl -

27. anFedd &m ©Bn woses’ Sz pEn ¢?
Uedteuqheustreubieln 6rhlel LishBam UWITLGSHSULGW?
Which of the following would use the Banjo?
(1) Folk group (2) Pop group (3) Jazz band (4) Brass band

28. '@33c8C mwimmdid 9B g dnuied i maBos Esies’ tum s ¢?
Leieupeuateummisii ‘cpaitensvlil CHtearmmT Senear Hubniw Seng SuE@Efs wLBRGLTE HenFundsbd

s1ahI?

Which of the following is another composition by the composer of ‘Moonlight Sonata’?
(1) Nut cracker Suite (2) Mikrokosmos
(3) Petroushka (4) Fidelio

29. 'Bogc 9zt ¢ ebzm’ oBdl Bons anes 8gSnd Ow briesd 825 oS ¢?
Weitaupeuameumpmist ‘Fmdn @eir 5 Gyuier asim (Tpiebun’t tm s o mEn 1y Fsed 15?7
Which of the following musicals has the popular song ‘Singin' in the Rain’?
(1) Mary Poppins (2) Wizard of Oz (3) Lion King (4) Sound of Music

30. B Heds wm epici@0 Bl bl egoies) p®m a¢e ¢?
LT G asiuGmsT siHTSBHHMBS HHIL LFTsd s15H7
Which term gives the opposite meaning of ‘Ritardando’?
(1) Crescendo (2) Larghetto (3) Vivace (4) Accelerando

31. 2 g8 828> 'emcd® wBuw’ v u@l50mmbus’ eaxaidded 0o ¢?
Uetaipeuameummist ‘UGrTaS T Wulds’ o Lar GHILTsbeors Hams s bsb aHi?
Which of the following compositions is not associated with ‘Programme music™

(1) Pastoral Symphony (2) William Tell Overture
(3) Scenes from childhood (4) 1812 Overture

32, 'Secwelt 8 g Bu w.Bmwaer cum eus’ geens ©Eos’ ¢
MetieupBGauniflet ‘#Henws]) 19 sumedt Bt Bems sysbiGHeoy wmy?
Which of the following is the composer of ‘Clair de Lune'?
(1) Liszt (2) Debussy (3) Gershwin (4) Schumann
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33. 208 Bnaes Sxfest 8x @ ¢?
LTeTeu HeuaTaummleln MTLGWD UmLst 617
Which is a song from a Nadagam?
(1) Suwanda Padma (2) Danno Budunge
(3) Shantha Johnge Weediye Kade (4) Wasana dineki

34. xnoo Doizest Edmnd 2o cRvlens B8 adifdomed @8> qumide 7
UaeumeuarsauBuel ahd W HEBHFeN BLBGD alHd HIRST auaanddler alluflbsinBGasmas?
Which animal’s gait is described in the Thuranga Vannam?

(1) Horse (2) Rabbit (3) Elephant (4) Snake

35. Venddd mifes tiesl 8z noos ¢?
Ledteubeucaisuizpiell epGloedlyel &I 61517
Which is an orchestral composition?
(1) Liebestraum (2) Gollywog’s cake walk
(3) Lohengrin (4) Bolero

36. Z B w-Bmxws’ amdsl g s.dne w@e sdcyn enxsddes nteds ¢7
Ueirsumn Bema oub@BIHals0 goren @eaFu| ar Gam_nlsdsorgeuy wir?
Which of the following composers is not associated with Jazz music?

(1) Louis Armstrong (2) Prokofiev
(3) Scott Joplin (4) Duke Ellington

37. wom qEebnm P BICE ymaes @8 ¢?
L astsumeuensuBmieln LenpwiTen snpml 61517
Which of the following is a false statement?
(1) MIDI is a standard way of connecting onc kecyboard with another.
(2) Synthesizers can record, edit replay music.
(3) DIs use a mixing desk to combine different tracks.
(4) Sampler is a piece of equipment that can record, process and playback bits of sound

38. otRlmun wm@imsens’ msl Sed Bedql Eedsiest wom € arh @5 BCeiews’ ¢?
TebTeu meuasummIsT WO Telar @eifed GUTHIUTS ULSTUBSSULGIE BIDLS6T T  6Tamient SHandenild
GBUTBeugl s1H1?
Which of the following states the number of strings commonly used in a mandolin?
(1) Four double metal strings (2) Five single strings
(3) Six single strings (4) FEight double metal strings

39, Bwmemdd s 98n o = Sbow O ¢?
WesteugpeueneuBmisil LTwnBent wiHHNE LWSILBSHSULBIE Gens oudbsid 6157
Which composition uses only the Piano?
(1) Blues (2) Swing (3) Ragtime (4) Be Bop

40. 2 18 Fon8s3 8 A8 920 nusl eanddes 83 OIS ¢?
Uaiumeianeubmiel Lybdn BN 2 feeeenssl 6d?
Which of the following does not belong to a Drum kit?

(1) Floor Tom (2) Ride Cymbal (3) Tom tom (4) Conga drum
# ¥
- -
"7 2 KOS Qeadaen [ 08 T s s amwie A - B« IRDpmp—" |
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oo Sewend qgPebz o dnddes cufmde:@@cs’ D Scied ey e nosio.
&b @g‘judluuug@&@m;j Lﬁnumg.,ﬁm@ amwow uDBsTe alamssens@iiu yarallsamen LaOGSHT|
)

allsrmiusfrsdlen B
BOGT B8RS D10 25 1 ened 8¢ cuea 50
Fflwren slemLsefla Qzrens 40 usHrd 1 s Gorsgrysief 80
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LA &VALTI L[\ A A4=0y R

1. wom & g8 w8 Qedtie adsoma B g g8 yEmHdED B8 towaiy.
A£G syt Gaien Bendll GUWTTnL SeugTafds Gol sl Beisn sl@mbsEnid aledl  oipmHIH.
Study the musical extract given below and answer the questions.

Allegro

(i) c®® miBas G e®dl doSped od. R0 B B8deriodw wudn yemnded geg =88 armert o,
Bhs audob G Gogl ewBsed @eveiengl. sflunel & AdGasaeny Gma sBETmEGI CLITHSHHOTS
2 L|EhHHI5.
This piece is in G major. Insert the correct key signature appropriatcly in the music score.
(i) eo8 088 Bdewivide HBome md €90 ydmdede qmes mdsto.
Baper eomb FaGaidaemrd SNoTellds Send soeuy 0B flsd 2 11 |E@HEIS.
Decide on the time signature and insert it in the score,
(iii) (a) ogf emded § uulne 80 B dwowd c®1Bygecd ed g?
apssn Liflafed gyl @eiten Gema aibsp & @B ConguGeol. SE&TBE?
To which key does the music modulate in the first section? ......-P. . Medov.
(b) @b goms ez’ OB,
2 flin vy Beodanicamend GITOLHS.
Statc the bar numbers concerned. ........ -.-'?'a 8, .............................................................. J

L R = T NP N B | i [ TR e T TP , |
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UL/ ZULX/4 1D L =1, 11 -y e R R
-

(iv) b gom 1 o 8 god Sl 8 oo 1 edostd o ‘A’ ece e ©J exfdxsles @ moxim.
Ut @evdhan | -8 suang Glyrefid o @ed o siten Galailerd gatenm ‘A’ sland GO H. Ca1sirenien GULISHTH
H(Hb.

Find the cadence in the Tonic key between bars 1-8 and mark it as “A’ and name the cadence.

(V) c®@2 miBed e0i® & enlecs’ Sudmo mIsim.
Bbs obHHHST CUID Hevald Hihdbaitis salenfihds.
Briefly describe the form of this picec?

................................. forw. Section A - Tonic key te Dominaut ey

(vi) o®® miSed cdlewn 9m @R DO,
Byhe obehH GnGur et allsdEhs.
Explain the tempo of the piece

Fast _ch.ic.k -

---------------------------------------- f--- I I R I R I I I P I

(vii) e®@@ miBe ek® =0 ¢owsd aun 8. § g8 @i o sdnxas’ priec?™ anlsd sen @mend e
s.OmEwi ety SLo gemuded Buln diimutB grmes »osis.
BhdH Spbsb GUmorsigd aToSENEG o flugl. STUUL Geten HEMEUILEH, By SLHGhT epaT
sIEBTLISITIIES (hibd GILITEhHhdIoTe Heeulient 1iib Beng SidbohmIud bigfleyblauis edBsmflsd GClum pdhHLoTsol
BLHPb 2 LSS,
This composition belongs to the Romantic period. From the three titles and the composers given below
choaose the most likely answers and insert them in the appropriate place in the score.

e Title: Waltz of the Flowers, Serenade, Soldiers” March

¢ Composer: Franze Schubert, Robert Schumann, Pyotr I'chaikovsky

(viii) @ gom | —4 18 e:8m Deitdn 98 B deml® ¢80 i 216 vmn B &?

1y evdaid | —4 @eveiian Genad HIswn (D Dbha & ©_Leil sidhoendl HLededdbell Bl LI GaTsngs?
How many times does the music of bars 1 — 4 appear in the same key throughout the piece?

(ix) @0 go 17 1080 D @40 oI0E DNUB L¢3 B g . & sem goe ddmwmed 8D els ecicsio.
un) @evdbatd 17 @l oyiinilbenih @uemiiinbd Ugd 10nGID GemasbsiiiL. CaueiiFlo. HIsNaETE Hanguisd
o flur @ &80 il Giuii oL BiEs.
The second part of this piece, commeneing at bar 17, should be repeated. Place the repeat signs at the
correct place in the music.

(X) @B gom 17 2 188 668 so 0le®Bd si8de 2@ @l o 2929 30 wczlemay o0 68 o=
sEiznmds @ etmdne sgpsl misim.
umy Sevdad 17, 18 spdlusubens 1 Geodasid 29, 30 galwennmsAmLGul ahan, anmrGrefid
Semcii sigiamenn @UILE seuppileeien @F @b SHEIOLILID b Gamnn’ L Seitsmiosnu i i
SR G
Compare the rhythm and harmonic structures of bars 17 and 18 with bars 29 and 30 and write a similarity
and a difference.

e Ruythwic pottern.  is. the sawme Nobes are move tn €%

................ Melodic. . pottenn....is. diffevent Notes ave travspased
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A mat m—ay w A Ihrmms my An - iv =
- - =

A ezooe /ugd A/ PART A

Be® gdos ecomd BEnc; evwninm.
stemenGuignid @rewi(® allsoidhaeihdhd, sl Wisfldb@s.
Answer any two questions.

2. (D EB eddbu 8 B8desibde e8nl qledine ww gredine gIded edidd 8dound g F Secd 8
Cusim. 088 Bdesitde qumes misim.
E’ Biogp sBsamen & HACarFam &1 HieuGynsmen syGyiment sugaisd Gairederd ahsbamInbGanu F Aensi
@60 siupdim. ogin AaGamFaanyd Gavdes.
Write the E’ major scale with key signature, in descending and ascending form, using F clefl and
the rhythm of a waltz. Add the time signature.

11
1] —r— X
s P T S S D— 1 — — —1 = o~ R
bk 1 { [ o { yJ
_LJ L i 1 ¥
I bl = 1

(i) G @n:.:zsio@(_'mﬁmf derdced €06 ewg 0883 § g 088 Bderiicwd oeeum B{@cmd gmd @b 4
R0 BUreme wSBi.
G GueyGrmsfid: sthBsafedl srdsuPmBIBeNNL LIWLILHILGHD SHIUnn Geaitanm syt HbGaid a(hd@i G nndeHome
ghdphHHEBsmIoul 4 LNjHeEnSHsTE GIosvly &ileNn sI(IDGIS.
Write a 4 bar melody using notes from the G pentatonic scale, in a rhythm to fit the given time signalurcé.

0 — e : '
G EEE= = = SEESES=SS=C

(iii) & g8 0®cBu 9Fedd v vvEst edd decd deod Ew du A e®dbed wd¢ D gulst Booe
338e0830¢ ewcsim.
IO Beiten Glloevigenil Gusrd dlensll B6d eap dHByel dpna sipd, HiEms A Cogeflsh gallaumibd sflmdhHlso
afluren sEmeniiol @b o d@Es.
Transpose the given melody an octave lower in the Bass clef and add correct accidentals to make
this melody sound in A major.

/--'—'--‘_\_
Ny = :
C [ . __'} > :
& \ <
- . a——
_}:_a__ 1 = _m' ﬁ
7 — 2 {
¥ = 1

3. () Z 2B oo ogm e@ewelines 92085 nd®x 8loas Fasinm.

S Gellen Ganiiebebd@ GlomsnGrsl esitenmit LiLisn 1G58 SThHGILOT6ETNs 61105

Write a rhythm pattern on a monotonc to the given words,
I love a lonely winding road
That takes me where I cannot see,
Until each softly rounded hill,
Reveals its landscaped mystery. See Aunexuve.

William Wordsworth

gy .bm.l.hJJ\ o B Y

I love a lo-ne-ly win-ding road that ta- kes-me where 1  can-nor see, Un

4I—J— ST ) B Bl FITT -5 J4J_|

til each so - ft - ly roun-ded hill, Re-veals its Ila- nd- -scaped mys-te -
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NFR LWL ™ALLY R i e LA -

(ii) ©om & @B 09EBs (B0 g &80 o= = 9=30od P 08 €00 pddsis. g 088 Bderivds
oo a5 ¢85 ewigedy. 88 B derd »E v ¥ =8n aduu gud Bow »H® ndvim.
Hieianpd Gosoy @sd SIOLC Baiten abai] GLBICTETHIGBST. B0 ausvBEmdHG sl aNBULBsien Gnm’ erd
@alll e iILuBSSIS. o o oy HECassy. ut) eflsmeans Gsibgs. Boedl & @il Gy b
s HwiLh © Hharal unele GuusTLE GiiinIGes.
Complete the melody given below, filling in the missing notes according to the note values and intervals
indicated. Insert the relevant time signature and bar lincs. Name the key and the name of the song.

(a) Perfect 4" above (b) Major 3™ above (c) Major 6" below
(d) Minor 3" above {e) Minor 7* below (f) Major 3" above
JI -\h - ) - - >
=5

> SIS i T L3 I_,I ——1 L=
(a) (b) (c) d) (e (N
Key: & majovr Name of song:_ F low Giently Sweel Afton.
~d

4. () (2) @® awived cdm sl o qi. Sied el gom B »® BITm.
ereunic GUWIITNIed epdim Gaup' L GaLsied o sliewel.  ojeuiyfel Gsmn’  @uluiGssnen i
(BapL_sitaniedt Gl nLBNIU D STUDGHIS.
There are three different cadences in the following extract. Write the chord indications and name
the cadence.

(b) cocom @b S ePpbes S0C Bt €90 gowsl Do DIPS Hcy estsiues Guw »E
DOBSB.
@mid Ly BVl L TeULBHBIIEHE o FlLimear sroeugil GUTILT&THSHmeN LILSLGHS CLITHSHBHLITI
Bxl ailed Bewadl sy, syHeir GLiusnyd @piin 1Gs.
Complete thé last bar with a suitable cadence, using correct note values and name it.

/'—“x/’_\/”'_'"“\f”'_““\

Wﬂ —| - [ [l r_ = #3 .; —g:—n— -~ 1
3 P o Fe i [ | | 1 I i | [ T
—

B S A e e L
Jemra W =2 AVGETE
= £ —e—tpr —— TP P - = e T

== o i === =1 - W 1. ! |
v oI (SR v \ 2R
I | 1
Pload + (1) I (n Imﬁrmp‘b*“n Perpeci av)

(i) a2 g 280 SO0 28 eeaful e eBesns mdws Cesin. creess edBew, o
W D8P sCylien eVEDwd emgzsim.
SyUUL@eitsT Guoevigent 985 LMHABGL GLnibhsunsn sysierfm 176yerd Bajhai LLTeRILILIB I I,
WosRiIL@SHAWL Gnevigd@ll Guimdsionre GroGuT. 176k, e anddad Gaiydags.
Complete the melody by adding an answering phrase in the same style. Add suitable marks of tempo,
phrasing and dynamics to the complete melody.
\‘

Allegre

A AFL —I— —r———l—l —
Dh '1"’\:;'/ —1 . ik Sﬁ* —
p==ss==e==-- = =-
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B emnos /umd B/PART B
B® yevm ecand B8xc wrusis.
siemeiBuisnid @resi® seilbEHEnsE aflsnl s ild@s.
Answer any two questions.

5. (i) egdd dece B By edclc mbe@imns B0 wgm eed o8 odl® gesimeds’ ¢ty g8 gudd,
GEN0D BE0, 888 cwl emod ece BBt aqg o6 Busio.
LGN eflensit @b arapsmInn’ L Giceugenl emmoensrend 6o uisudn B Gueny sjmel @ev ® Grmiosd
Beodadhdeueian Cgupad, G mr elibs, WBaliteah oBe0s) @B a1 a1d s1601 FhSHHHIDBG MLl C1UHEID-
Write the triads shown by the Roman numcrals, accordingly as dotted minims, minims or crotchets in
the Bass stave to harmonize the melody written in the Treble clef.

A e —
Ho——4— = 77— o ™ i = L
LB | — —a -..:_‘--_____/_-
“ . i ) o R — ]
P L - - Ef = EP Zes i 7
\ | ‘ —— ‘
| ' | I
1 IVb ii Vb A I N
(il) B Eomed &fm Gned § g5 AOBC ©Bn €00 geond eudto ©:0n €U0 gdmoon BoTH.
Beomemaulsdl Cadlul BHHAM HIOUL Gaien GMmeSEGHILI SHIESH 0T auesIL, B PHBHUI FRIBD
sTheMy  sUBHLITG 1035 IEDIDDEG .
Convert the given phrase in western notation of the Sri Lankan Anthem to oriental notation.
0 ;
A —t—— | T
OEed——7 12— 2 ht— 155 e e e 0 ==
[ S - p—
i
§ be
\i'llll r 11
52 v |8 Bolo —|— 28|29 =3 |z2 £5]
r 3 (B g — - — o
_P-o |% - |H-DiIs 51D %a |o-I-+]
= = = = '
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6. (i) & 318 £l S» vidn BBz ¥ =.8o aeEde cudd bonib HPwO v idn Eulm.
Srnn’ Gsiten sByait Gemavi's LWHTUGHS Db Bevsd piBiLdHaear Cagit’ adGaHT (pamuilsd 1Bt

SN FIT.
Re-write this passage in short scorc using the given stave.

— i
(o @
: | = o
]
t - T
| ) ;
~ , ~
1 | 1 1 - T T 1l |
1D P | - | | | et | - 1
- Fe—a——1— — i
| 1 7 , SN |___| | | " 'F\‘
—— —— ———] : I 1
- — — = —
. 2 r—r—rj -
| F .y U? AL
| Q H y )
:_ = - P 1 1 _t%_:{p-_ ! I' ; 1 1 I'_ s ————
=i N B =
~/ o

(i) (a) Cagd demced &0, § o8 deddied egad Sect vwigy Ewsim.
C Lsmard at@aellsll soaurmimamangs s Bsiten ewGyel @eir L Gyilsi BBenel LWEGTIGHS srsaHIs.
Write the notes of the Blues scale on C in the given stave in the Treble clef.

9]

1
3 M | =
"4

€ b
- J
(b) &hed eoBoed Dieod cde e szl nozim.
ared @enauiear (Whal LescLIsBs GHIIGs.
State an important feature of Jazz music.

Syncopetion and. swing. rhythwm, Twprovisation, . ..
. Instrunental breaks, 12 bar blues chard pattern using glissand

(c) @enmduts PDISD sHEO eudd wodn et ecod 8 S, B8 emSewst Ednd mdsim.
Yokmardym ainflsd ey afle’ GBIbGIE, @ flu Gmadasmalssr @Jesiger GLLTB@aS GIOT 6,

HRUMMBF F(hBSBLONS afleufldgds.
Name two instruments that belong (o the woodwind family in an orchestra and briefly describe each.

(). Pigeole, Flute, Oboe Englich Hovn Clarinet Basoon .. .
SRl ANNEXUYE. e
ST
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7. (i) von € B 08 v conds =850 Edns mosin.
FBip SyrIL_Beieneauppiled a@Hedid @eiens 2 FHITemINGETL & allaufldbdd.
Explain one of the following with examples.

B Vannam, Raga, Prashasthi s -
Vannam is a form of poetry associated with Kandyan dance forms. It describes :;tn,iwial%objgc :seengnd dancer:
perform to these background songs. There arc 18 vannams. E.g. GajagaWannama, Thuraga, MayuraWarinama etc..

Raga is a form of a scale used in the Hindusthani Classical music. Each raga has a given set of notes which helps to creat
a specific mood or atmosphere unique to a rage. E.g. Bhupali, Bilawal, Yeman, Kafi, Bageshree etc.

Prashasthiis a form of written poem or prose composed by the court poet to be recited or sung to please or praise th
king.

E.g. Waramathisubacharithe, Deepadeepapathi, NomadithVikumpa, Lakshmi Buhujana ye, Chandanandakumkumaanjana
(ii) coo cudm e IOz g BBoigns’ H® Dostm.

Llsdiengpliy eydbmmibsianr @and s heb]oellsr CLULITSHM6N 6l dhIS.
Write the name of the composer of the following compositions.

Composition Composer
1 | Young Person’s Guide to the orchestra Benjaminn  Britten
2 | Rite of spring Tqor Stvavinsky
3 |'lhe Entertainer Scott Joplin.
4 | Rhapsody in blue George Gierchwin .

(iii) (a) =0® B’ B® gwwmO gwut B g?
EHG HHEBEN 6lbdhd HIOGHHISEG . flulemsun@in?
Into which period do these compositions belong?
Modevin Feviod .

.......................................................................................................................

(b) 288 geWd ewmg § CTee eLad BgHE WoTIW.
@ssraosHBGAL BrenB CUTHIT Lk smend @GS,
State two common features of this period.

C hvowabic b\a.vmo_v_\_:l_j_, Unusual cound effects Dissonant and

............................................................................. e SR

often harsh  Syncopated vhythw More percussion sounds

............................... '

ZTwprovisation Atenaldy Polytonality whele towe scales
Nete  cluster Polyrhythan Tuelve Yove. technigue, ...

(iv) = 2.8m gm.owss’ st E0vsifed E81mE ¢Sonim. (s wiwm Dedie®, mod pbo
Do Deite®, edemil meiow® gifud Do wecbnen)
LI #6060 Blens  &)i111605H6lls0 | LnIGLBIIeuSeusTen  (pdhalilhsinbmabd @irniGa. (1m arsna
BT GG, LM FT60 aITGHIS@GLE, CJH8H1 [ @iy UBKEUBMID Hena0 [HlobIDsyssin)
State the value of participating in school musical performances. (such as school choir, school band,
and recorder group concerts)

X Lvaproves.. leaderchi " SN S
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Queﬂﬁon@
[ \
H—J_po- Ll ] ::l JJ -\iel—:l s );J s d J,
- = = 1
; 1 love a lone - ly win-ding road  that takes me¢ where 1 can - not see, Un
D B Y I Y ¥ I B S S e
2 - = < 1
tl each so-ft-Ily rou-nded hill, Re-veals  its la-nd-scaped mys - Te ry.

Question S@>

Instruments of the woodwind family

Piccolo, Flute, Oboe. English Horn, Clarinet, Basscon

Flute: It is the oldest of all instruments that produce pitched sounds (not just rhythms), and was originallv made from
wood, stone, clay or hollow reeds like bamboo. Modern flutes are made of silver, gold or platinum; there are generally 2
to 4 flutes in an orchestra. A standard flute is a little over 2 feet long and is often featured playing the melody. You play
the flute by holding it sideways with both hands and blowing across a hole in the mouthpiece, much like blowing across
the top of a bottle. Your fingers open and close the keys. which changes the pitch.

Piccolo: A shorter version of the flute is called the piceolo, which means small in Italian. At half the size of a standard
flute, piccolos play the highest notes of all the woodwinds; in the orchestra one of the flute players will also play piccolo
if that instrument is required. The high piping sound of the piccolo is also heard in traditional drum corps and marching
band music.

Oboe: The oboe is a 2 foot long black cylinder with metal keys covering its holes, and its mouthpiece uses a double reed,
which vibrates when you blow through it. This vibration of the reed makes the air inside the oboe move, and thus creates
sound. To play it, hold the oboe upright, blow through the double reed in your mouth, and use both hands to press down
on the keys to open and close the holes and change the pitch. There are usually 2 to 4 oboes in an orchestra and they
producc a wide range of pitches, from haunting sounds to warm, velvety smooth notes, which make the sound of the ohoe
very memorable. In addition to playing in the orchestra, the first oboist is also responsible for tuning the orchestra before
each concert. Listen for the special notc "A" that the oboc plays before the music begins.

English Horn: Despite its name, it isn't English and it isn't a horn. The English horn is actually closely related to the
oboe, also uses a double reed, and is played in the same manner. It's longer than an oboe and its tube is a bit wider. At the
bottom c¢nd of the English horn it opens out into a rounded bell shape, which gives it a warmer, fuller sound. Because it's
larger, the English horn also has a lower pitch range than an oboe. An oboe player will also play English horn if it is
needed.

Clarinet: The clarinet could easily be mistaken for an oboe, except for the mouthpiece, which uses a single reed.
Clarinets come in 2 number of different sizes, and the standard B-flat clarinet is just over 2 [eet long. Some musical works
require the clarinetist to play several types of clarinet in the same piece. The 2 to 4 clarinets in the orchestra play both
melodies and harmonies, and they have a dark rich sound in their lower notes, while the upper part of the clarinet's range
is bright and resonant. You play the clarinet as you do an oboe, by holding it upright, blowing through the reed, and using
your hands to change the pitches by opening and closing the keys with vour fingers.

Bass Clarinet: This is the grandfather of the clarinet family. The bass clarinet is'so large that its top and bottom are bent
to make it easier for musicians to hold and play. Its greater length allows it to play some of the lowesl notes in the
orchestra.

The bassoon is a long pipe. doubled in half, made of wood, with many keys. The bend in the pipe makes it possible for
musicians to play it comfortably. If it were straight, the bassoon would be around 9 feet long! Like the oboe, the bassoon
uses a double reed, which is fitted into a curved metal mouthpiece. There are 2 to 4 bassoons in an orchestra and they have
a similar range to that of the cello. Bassoons usually play lower harmonies, but you will sometimes hear their hollow low
notes featured in a melody. You play the bassoon by holding it upright and blowing through the double reed. The air
travels down the tube and then makes 4 u-turn and goes up and out the top. Just like the oboe, you use both hands to press
on the keys to open and close the holes and change the pitch,

Contrabassoon: It is a longer bassoon with a wider pipe. The contrabassoon is the grandfather of the wind scetion and is
so much larger than a rcgular bassoon that its tubc is doubled over twicce to allow the player to hold it. It takes a lot of
breath to make sound come out of such a long pipe! The lone contrabassoon plays the lowest notes in the entire orchestra.
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